Arrus Blk BT

8 POINT

Z‘écc‘:lﬁfﬁg ‘ﬁlf}}?f& ‘Slix‘(‘i‘}"{’é‘&uvvg%%(?swsg Zlﬁcgﬁffg’dﬁlf?ﬁf&(}vngR :uvv3§§(3z456789
aic’d. I;" rhij k]ln}1( - isﬁufw )01-2_3’256789 a c’dl’{ .t]!k]ltzt( i s,t;u(};{:w . )01-2_3;56789
FGHI]I NOPQ STUVWXYZ FGHI] NOPQ STUVWXYZ
{[,.,.?!]}(@#$% £) _--— 21} (@#8% ~ &*)_
wbP?ilN} ijkl 0123456789 bcdef 0123456789
t t
XBCCBEF(JHII;‘I?I?&(N%FQ gTUVWXYZ ZBcCle)lgF(!HI] “°Bﬂv’63q ’I?UVWXYZ
([,.5:21]} (@#8%™ &*) .- — lj’ :711) (@# 8% ~ -
abcde l{ klmn rstuvw. 0123456789 abcde I{ hijkimno z;‘stuvw 0123456789
GHI]I leOPQ STUVWXYZ FGHI)' NOPQ STUVWXYZ
(21 (@#$% ™~ &*) _ :?21]}(@#8% ™ &*)_
12 POINT
abcdefghi klmnoBI rstu z 0123456789 6 3.36
ABCD FGHIJKL OPQ T UVWXYZ 6.5 3.11
£ ?!]}(@#$% ) a—— 7 2.90
a cd % hijklmn lestuvw z 0123456789 75 272
FGHI] NOPQ ST UVWXYZ P 255
£ l](l}(@#$% -—— 8.5 2.40
a cde mno&(}\rlstu 0123456789 9 526
ABCD HIIKL OPQ §TUVWXYZ Y 214
{I,.; ?']}(@#$% == 10. 2.03
abcd l]klm ({zlstuvw 0123456789 108 1 04
FGHIJ. NOPQ STUVWXYZ o o
7 1 (@# 8% > &) 2 om s iz
14 POINT 12 1.69
abcdefghi G!klmno (}\r]stu 0123456789 :25 122
ABCD FGHIJKL OPQ TUVWXYZ 135 <49
[1- ?']}(@#$% ) - 14. 1:44
abcd hijklm (Ezlstuvw 0123456789 145 1.39
FGHIJI N OPQ S TUVWX YZ 15 1.34
[’- ?']}(@#$% -—— 15.5 1.29
abcde ]ngkl no (}\rlstu ~ 0123456789 16 1.25
ABCD HIJKL OPQ TUVWXYZ 16.5 1.21
([,.::711}(@#89% > - - — v 1
abcde l(% ijklmno (E rstuvw. z 0123456789 e 1o
FGHIJK N OPQ STUVWXYZ 185 107
{[,. :?21]Y(@#$% "~ &*)_--— 19 1.04
18 POINT ;zs ;g;
abcdefghijldmnopqrstuvwxyz 01234567 [ s 096
89 21 0.93
21.5 0.91

ABCDEFGHI]KLMNOPQRSTUVWXYZ

PLIV(@# 8%~ &*) o —

abcd I; klmno rstuvw. 0123456789
% FGHIJK EINOPQ ST UVWXYZ
{[,- 2?21} (@#$% ™ &*)_-——

abcdefghljklmnopqrstuvwxyz 01234567
89
ABCDEFGHI]I(LM OP(;RSTUVWXYZ
£ 32211 (@#S % ¥) a——
cdefghijk mnopqrstuvwagyz 0123456789

22

0.89

22,5

0.86

23

0.84

23.5

0.82

24

0.81

24.5

0.79




ABCDEFGHIJKLMNOPQRSTUVWXYZ
{[,.;:?2!]Y(@#$% ~ &*)_--—



